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Introduction

Our examiners’ reports are produced to offer constructive feedback on candidates’ performance in the
examinations. They provide useful guidance for future candidates. The reports will include a general
commentary on candidates’ performance, identify technical aspects examined in the questions and
highlight good performance and where performance could be improved. The reports will also explain
aspects which caused difficulty and why the difficulties arose, whether through a lack of knowledge, poor
examination technique, or any other identifiable and explainable reason.

Where overall performance on a question/question part was considered good, with no particular areas to
highlight, these questions have not been included in the report. A full copy of the question paper can be
downloaded from OCR.
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Paper 1 series overview

Teachers appear to have used OCR resources (including the practice paper available on Interchange) to
good effect. Those candidates who had been fully prepared for this examination generally performed
well.

Full preparation for this examination needs to include:

Practice at answering multiple-choice questions.

The ability to apply understanding to the contexts given in Texts 1 — 3.
The development of analytical skills.

The development of evaluative skills.

The interpretation and use of numerical data.

Section A gives time for candidates to settle into the examination. This section of the paper was
generally well answered by most candidates. Some candidates lost marks by leaving a multiple choice
question (MCQ) blank. This is poor examination technique. Candidates should be encouraged to
indicate a response to all 15 questions. A minority of candidates also lost marks because the letter
written in the box was unclear. Candidates should be discouraged from trying to alter an answer by
writing over it — say by trying to change a B to a D, or vice versa. In such cases it is impossible for the
examiner to know which letter was written last. If a candidate wishes to change their answer they should
fully cross out their original answer and replace it with their new selection, if necessary this should be
written outside of the box.

use. These can be accessed using the link
https://www.ocr.org.uk/qualifications/gcse/business-j204-from-
2017/planning-and-teaching/ and selecting ‘Teaching activities’. The
resource organises the practice multiple-choice questions by topic, so that it
can be used appropriately throughout the programme of study

@ OCR support | OCR has produced lots of practice multiple-choice questions for centres to

It is important to remind candidates that, in Section B, questions which include the name of the business
in their wording should show evidence of application of understanding (i.e. to the business contexts
detailed in Texts 1 — 3). Each text includes important details about one specific business. In this
specification ‘application of knowledge and understanding’ refers to the use of context, and not simply
the mentioning of context. A name drop of the business, relevant personnel or the product/service the
business offers is insufficient for the award of application. The candidate must use the context in their
answer i.e. the contextual reference must add something cognitive to the answer. This is an important
issue because answering such questions in a theoretical or generic way could severally limit the number
of marks that the examiner can award to the candidate. As per the specification, a minimum of 32% of
marks on this paper (35% across the qualification) are reserved for application of knowledge and
understanding.

Each of Questions 16 — 18 contain at least one ‘analyse’ question and at least one ‘evaluate’/’discuss’/
‘recommend’ question. To increase candidate accessibility to marks, these skills are independently
assessed and so, for example, a candidate may gain full marks for evaluation without any analysis. In
addition, to further increase candidate accessibility to marks, all analysis marks and most evaluation
marks are awardable irrespective of the use of application. It is, therefore, important that candidates are
clear as to the difference between the two skills, because to achieve maximum marks they will need to
fully demonstrate both skills.



https://www.ocr.org.uk/qualifications/gcse/business-j204-from-2017/planning-and-teaching/
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What is analysis?

Analysis requires candidates to present a logical chain of reasoning. The chain of reasoning should
begin with an appropriate point relating to the question and end with at least one impact of this
particular point on the business (or occasionally, depending on the wording of the question, an impact
on the stakeholders of a business).

The maximum tariff for analysis on any question on this paper is 2 marks. Therefore, a maximum of 2
analytical points needs to be made to achieve the maximum marks awardable for this skill. It should be
noted however, as per the wording of the specification, that ‘discuss’/evaluate’/'recommend’ questions
also encompass the testing of analytical skill. Candidates need to demonstrate their ability to analyse on
both ‘analyse’ and ‘discuss’/evaluate’/'recommend’ questions.

What is evaluation?

Evaluation requires a supported judgement to be made. The question wording may use ‘discuss’,
‘evaluate’ or ‘recommend’ — all of these require a justified, reasoned, argument to be put forward.

Each time the skill of evaluation is rewarded on this paper, it has a tariff of 3 marks.

Candidates should be encouraged to reach decisions and give reasoned justification to support their
argument using contextual information. While a valid justification that applies to most businesses would
achieve 2 of the available 3 evaluation marks, an answer which argues using the particular
circumstances of the business in the text will be given the full 3 marks that are available.

The 9 mark question on this paper includes the testing of candidate ability to interpret and use numerical
data. Please see question 18d on this paper. Two marks were reserved for this purpose (application
marks). For an award of 9 out of 9, candidates are required to show that they have used the numerical
data given — in this case salary figures and the quantity of workers. Those that did not explicitly use the
numerical data could still achieve 7 of the available 9 marks.

The range of questions presented on this year’s examination paper gave candidates of all abilities the
opportunity to demonstrate their understanding. The vast majority of the scripts showed that the
candidate had, at least, attempted to answer all of the questions set, with a consequent very low
question omit rate across the paper (with the exception of Questions 18ci and cii). The questions
addressed a wide range of topics taken from the specification and were a true test of a candidate’s ability
to apply their knowledge and understanding of business. The higher tariff, 7 and 9 mark questions, gave
high ability candidates the opportunity to fully demonstrate their understanding using contextual
application, analysis and evaluation; and many did so.
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Section A overview

The majority of multiple-choice question were well answered. Only two questions appeared to cause
difficulty (Questions 2 and 11).

Question 2

2 A fast food restaurant is currently charging a price of 60p for its new healthy snack. The fast
food restaurant intends to increase the price to £2.25 once the healthy snack has become more
popular with customers.

The current price is an example of:
A competitor pricing
B cost-plus pricing

C penetration pricing

D price skimming

Your answer [1]

This question was testing understanding of pricing methods as listed in the specification. The correct
answer to the question is (C) penetration pricing. Of those candidates who got this question wrong, the
most common incorrect answer was (D) price skimming. Whether this indicates a misreading of the
question (which clearly states ‘current price’) or a misunderstanding of the concept of price skimming is
impossible to determine. However, in case it is the latter, centres are advised to give sufficient time in
their programmes of study to this area of the specification.

between different pricing methods. This could be done on a frequent basis

AfL Centres are advised to get give candidates plenty of practice distinguishing
as part of a lesson starter or plenary.
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Question 11

11 A market research agency needs to constantly improve its digital communications to keep up with
the competition. In 2017 it spent £250 000 on digital communication. In 2018 it spent £525000.

The agency’s percentage increase in spending on digital communications from 2017 to 2018 was
approximately equal to:

A

B

48%
52%
110%

210%

Your answer [1]

This question had the greatest proportion of incorrect answers of all of the multiple-choice questions.
The correct answer to the question is (C) 110%. Many candidates selected answers (A) and (B).
Percentage change is a concept which causes many candidates difficulty, however standing back from
the calculation and doing a little estimation would have shown that answers (A) and (B) could not be
correct because the figures have more than doubled and, therefore, the answer must be greater than

100%.

©

AfL Centres are advised to encourage candidates to do a quick estimation of
the magnitude of the answer before doing the actual calculation. This way
if their calculation is not of the magnitude expected, i.e. in this case if less
than 100%, they are alerted to check for an error.

@

Misconception | A common misunderstanding by candidates is that when calculating
percentage change the absolute difference should be divided by the new
value. This is not the case; the denominator should always be the original
value.
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Section B overview

Candidates should use the information provided in each of the texts when answering the questions in
Section B.

Question 16 (a)

16

Text 1
The Ford Motor Company Ltd

The Ford Motor Company Limited (Ford Motors) is a global manufacturer of a range of vehicles
including cars, vans, trucks and buses. Ford Motors has been one of Britain's best-selling car
brands for over 30 years, with a range of models including the KA, Fiesta, Focus, Mondeo and
Galaxy. The company’s large range of products includes models that differ in size to meet the
individual needs of different market segments, including eco-friendly small cars, family cars, sports
cars and 7-seater people carriers.

Ford Motors carries out a lot of market research when developing new car designs and uses both
primary and secondary research. This ensures that new car designs and models meet the needs
of potential customers.

Each model’s sales levels are regularly monitored against the product lifecycle.

(a) State two secondary market research sources which Ford Motors could use.

A straightforward start to this section, and well answered. The most common correct answers referred to
‘magazines’, ‘the government’ and ‘the internet’. Very few candidates confused primary and secondary
market research methods. Of those small proportion of candidates who did not achieve a mark on this
question their error was, almost invariably, to give a type of data rather than the source of the
information. The question required the source of the information.

Question 16 (b)

(b) Explain the purpose of marketing within Ford Motors.

A wide array of answers were given to this question, depending on which aspect of marketing the
candidate focused on. Whether promotion, raising awareness, identifying gaps in the market or other
more market research focused answers, all were given.
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To achieve full marks on the question, the answer needed to show evidence of applied understanding.
The vast majority of candidates gave applied answers and achieved full marks. Please see the following
examples for further clarification.

answer to any question that includes the name of business. The following
two questions may look similar but the first only requires a generic answer
whereas the second requires an applied answer

@ AfL Centres are advised to encourage candidates to always give an applied

1. Explain the purpose of marketing
2. Explain the purpose of marketing within Ford Motors.

Exemplar 1

.r OOUAGH WL ENOWA...Qn
prodm%s Sold W@an

The response from this candidate clearly shows that they have a good understanding of the purpose of
marketing. However, the response would be relevant to any business, i.e. it is generic and so can only
be given one of the 2 available marks.

Exemplar 2

...... \C‘»\) NG OO RN el
m\% s e oG . nsed o ’dml:

This exemplar is just what the examiner is looking for. There is clear understanding of the purpose of
marketing as applied to Ford Motors and its development of new car designs. This response is given the
full 2 marks.
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Question 16 (c)

(c) Explain one way that preparing a business plan may be useful to Ford Motors.

Very few candidates seemed clear on how or why a business plan could be used. The most common
correct answers related to helping Ford obtain a loan (1 mark), with the addition of a contextual reason,
e.g. to fund the design of an eco-friendlier engine (1 further mark). Many scored zero on this question.
The most common error was discussing the content of a business plan rather than its use.

Question 16 (d)

(d) Explain how Ford Motors could use market segmentation when deciding where to place an
advert for its new car models.

This question divided candidates. Examiners saw many exceptionally good answers to this question —
each showing a clear understanding of how market segmentation could help decide where to place an
advertisement for new car models. At the other end of the spectrum examiners saw answers that
showed no knowledge of market segmentation whatsoever.

It should be noted that the question asked for how Ford could use market segmentation to decide where
to place an advertisement, responses that simply discussed what market segmentation was did not
answer the question and could not be given credit.

The best answers to this question tended to use an example as part of their explanation, for instance
suggesting that people carriers should be advertised on children’s television channels, although an
example was not required for the award of the marks.




GCSE (9-1) Business - J204/01 - Summer 2019 Examiners’ report

Question 16 (e)

(e) Analyse one disadvantage to Ford Motors of manufacturing and selling such a large range of
products.

This is the first 3 mark ‘analyse’ question on the paper. Candidates were expected to name a
disadvantage and, by presenting a logical chain of reasoning, arrive at the impact of this disadvantage
on the business. To be awardable the analytical point needs to be an impact on the business (rather
than an impact on customers or employees) because the question is worded ‘Analyse one disadvantage
to Ford Motors of ...". For full marks the answer also needed to show application of understanding in
context i.e. be specifically applied to Ford Motors.

Please see the following examples for further clarification.

Exemplar 3

jmﬂaw«wg}mm”ﬁumf}(aameﬁwwu
Lo w0, conSuming...0n. 285k oL hen. 4. differeal. g0
markeh.... 0. LR, o pegold... LATR. i) 0.
At middl.aoed. adutt. whe Tk Chitdien. 0ad the....
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‘*ﬂjmi‘mngAﬂUMn U@«l” LA S

000 ..l read). . e titaeid (.

...............

This exemplar is just what the examiner is looking for. The candidate begins with a disadvantage
(needing to create advertising for each one of the cars (1 mark)), works through some applied
explanation (regarding the people carrier needing to be marketed at adults who have children (1 mark))
and ends the chain of reasoning with an impact on the business (increased advertising cost (1 mark)).
The full 3 marks were given.
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Exemplar 4

B Sadhounkade. be.... Farck... Mokors. 806 Sarting...
A locge ange. ok ploduatt. B dhat.. ik will........
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This exemplar is similar to Exemplar 3 in the sense that it focuses on advertising, however this time the
candidate begins with the high cost of advertising every car (1 mark), rather than the need to advertise
each car. The remainder of the answer shows good application of understanding especially in the last
couple of lines (the reference to the family car being advertised on TV) (1 mark). The candidate does
not progress their argument which begins with the high cost of advertising through to an impact on the
business, so the analysis mark cannot be given. Two of the 3 available marks were given.

Perhaps, two of the easiest ways to gain analysis marks (from a starting point of high cost) would be to
use logical argument to link this to reduced profit or possible cash flow difficulties. The learning point
here is that wherever the candidate begins their argument they must move on in the logical chain to
present a (further) impact on the business.
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Question 16 (f) (i), (ii) and (iii)

(f) Many businesses, such as Ford Motors, use the product lifecycle to plan the marketing of
their product range.

(i) State one advantage to a business of using the product lifecycle to plan the marketing of
its products.

. [1]

(ii) State one disadvantage to a business of using the product lifecycle to plan the marketing
of its products.

(iii) Evaluate whether or not Ford Motors should continue to use the product lifecycle when
planning the marketing of its products.

Questions 16fi, fii and fiii comprise one question, scaffolded for accessibility. The question is testing
candidate understanding of the use of the product lifecycle to plan the marketing of Ford’s product range.

This question was targeted at the high ability student, nevertheless many candidates were able to score
marks on Question 16fi.

Question 16fii proved trickier with many answers deemed too vague, or simply incorrect. The most
common incorrect answer was that the product lifecycle was only an ‘estimate’ or ‘prediction’; it is not.
The figures used to produce a product lifecycle are actual sales figures. The most common vague
answer was that the lifecycle is ‘inaccurate’, more detail was required, for example it does not consider
changes in external factors such as changes in competitor activity and demand.

The 7 marks for Question16fiii were allocated as follows: 2 marks for application, 2 marks for analysis
and 3 marks for evaluation. Each assessment skill was marked independently, therefore no one skill is a
pre-requisite of another. Further details of this mark breakdown can be found on the marking grid for this
question in the published mark scheme.

Most candidates managed to achieve at least one mark for evaluation i.e. by making a decision as to
whether or not Ford should continue to use the product life cycle to plan the marketing of its product
range. Those who were able to justify their decision gained extra evaluation marks. Those whose
justifications were deemed good (i.e. valid but non-contextual) were given an extra one mark (totalling 2
marks for evaluation) and those whose justifications were deemed ‘strong’ (i.e. valid and contextual)
were given an extra 2 marks (totalling the full 3 marks for evaluation).
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Those with a sound understanding of the concept of using the product lifecycle to plan the marketing of a
product range also achieved some analysis marks. Very few candidates were able to gain application
marks on this question, since name dropping or product dropping is insufficient to award marks — as
previously explained (in the series overview) the application mark is given for use of context, not the
context itself i.e. it needs to add something cognitive to the candidate’s response.

Question 17 (a)

17

Text 2
Redrow Homes

Redrow Homes is one of the UK's leading housebuilders. Housebuilders, such as Redrow Homes,
typically use self-employed construction professionals alongside their own employees.

Redrow Homes employs over 2300 people in a range of jobs including trades such as carpentry,
plumbing and bricklaying. They also employ landscape designers, customer service administrators
and sales advisors to sell the houses. The company is committed to staff development, with 15%
of the workforce undergoing an apprenticeship or other formal training programme.

Redrow Homes has been named one of the ‘Top 100 Apprenticeship Employers’ for the last five
years and was recently named the ‘Construction Industry Training Board Apprentice Employer
of the Year'. At any one time the company employs at least 130 apprentices, as the company
feels that it is an excellent way to find and develop young motivated staff. The company offers
apprentices a clear career path whereby they gain qualifications alongside work experience and a
good wage.

(a) Explain one method Redrow Homes’ head office employees could use to communicate with
staff working on one of its building sites.

Method

This question tested whether candidates could choose a method of communication appropriate for the
situation and then explain why. Email, text messages and walkie talkies were the three most common,
correct answers. Answers such as a PowerPoint presentation or a letter were deemed inappropriate and
were not given. The suggestion of sending a letter was more common than would have been expected.

To gain the 2 marks available for explanation the reason needed to be specific to the method suggested
and showed evidence of applied understanding. Candidates had most difficulty with the former —
answers were all too often too vague. Answers such as ‘quicker’, ‘easier’, ‘convenient’ were not
awardable. Take as an example ‘email’ — ‘fast and easy to send’ is too vague but ‘can be received
instantly’ or ‘can be sent to multiple recipients at once’ or ‘can be referred back to’ were excellent
answers.
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Question 17 (b)

(b) Identify two reasons why employee motivation is important to Redrow Homes.

Candidates needed to demonstrate their knowledge of employee motivation within the scope of the given
scenario. Many answers were too vague or written from the wrong perspective (e.g. ‘the workers feel
happier’). The best answers related to ‘an increase in the quality of the build’, ‘homes built more quickly’
and ‘high retention of construction workers’.

Question 17 (c) (i) and (ii)

(c) Businesses may use financial or non-financial methods to motivate employees.
State one example of a:

(i) financial method to motivate employees

(ii) non-financial method to motivate employees

The majority of candidates were able to give a correct answer to both Questions 17ci and 17cii. The
three most common answers for Question 17ci were ‘a pay rise’, ‘a bonus’ and ‘profit-sharing’. The three
most common answers for Question 17cii were ‘praise’, ‘award schemes’ and ‘extra holidays’.

Question 17 (d)

(d) State one reason why a business may need to recruit new employees.

A wide variety of answers were given to this question — from business expansion to current employees
leaving; these and all other such reasons, were given. The vast majority of candidates gained a mark for
this question.
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Question 17 (e) (i), (ii) and (iii)

(e) Redrow Homes could use interviews or group activities to help select new apprentices.
Analyse how each of these methods could be used.

(i) Interviews

(iii) Recommend whether Redrow Homes’ managers should use interviews or group
activities to select new apprentices. Give reasons for your answer.
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Questions 17ei, eii and eiii comprise one question, scaffolded for accessibility. The question is testing
candidate understanding of interviews and group activities as selection methods for Redrow Homes.

In each of Questions 17ei and 17eii examiners were looking for answers that apply specifically to the
selection method in the respective part of the question. For example, an interview, being a discussion,
could be used to obtain detailed feedback on a candidate — including what motivates them, how they
present themselves, their personality, etc. Likewise, a group activity involves interaction with other
candidates and can assess an applicant’s ability to work in a team, leadership skills, etc. Answers such
as ‘it will help Redrow Homes find the best person for the job’ were too vague to award, since that is the
purpose of all selection methods. Candidates generally did better at Question 17eii than Question 17ei,
mainly because their answers were more specific.

Question 17eiii required candidates to select which of these two selection methods it would be best for
Redrow Homes to use. There was no right or wrong answer here, all candidates were required to do for
the first of the 3 available marks was to choose one of the methods. Almost all candidates managed this
and, thus, gained at least one mark. Of the very few candidates that scored zero on this question, the
reason was invariably one of ‘sitting on the fence’ i.e. arguing for both methods but never reaching an
overall decision. Responses that argued they should use both, with no preference for either, could not
be rewarded.

The other 2 marks available for Question 17eiii were given for the quality of the candidate’s justification
of their selection. A good justification was given one extra mark for being valid but appropriate to most
businesses, e.g. ‘| recommend using interviews (1 mark) because they can help identify the personality
and motivation levels of the applicant (+1 mark)’. A strong justification was given 2 extra marks for being
valid and contextual e.g. ‘l recommend group activities (1 mark) because on a building site the
bricklayers and plumbers need to work in team to complete their tasks effectively (+2 marks)'.
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Question 17 (f)

(f) Analyse one benefit to Redrow Homes of using apprenticeships as a method of staff
development.

This is another 3 mark ‘analyse’ question. Examiners were looking for a benefit to the business of using
apprenticeships as a method of staff development and, by presenting a logical chain of reasoning, arrive
at the impact of this benefit on the business. To be awardable the analytical point needs to be an impact
on the business (rather than an impact on the apprentice) because the question is worded ‘Analyse one
benefit to Redrow Homes of ...". For full marks the answer also needed to show application of
understanding in context i.e. be specifically applied to Redrow Homes.

Those candidates who grasped the meaning of the question i.e. not about the use of apprenticeships in
general but the use of apprenticeships as a method of staff development, scored highly on this question.
Many candidates, however, started from an incorrect premise — either that the question required benefits
to the apprentices themselves or that the question was about the use of apprenticeships as a method of
recruitment.

Key point call out

When answering questions about benefits and/or drawbacks care needs to be taken to make sure the
benefit/drawback is given from the correct perspective i.e. the benefit/drawback to whom? The vast
majority of questions will require a benefit/drawback to the business (as an organisation) but
occasionally it may be to one of its stakeholders (e.g. employees, customers, suppliers, etc).
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Question 18 (a)

18

Text 3
Beautiful Buds plc

Beautiful Buds plc is a company which grows plants that are sold to garden centres throughout
the UK. Beautiful Buds plc has a new Managing Director who has proposed a merger with Green
Gardens plc, a chain of garden centres selling a wide range of plants and other garden products.

Green Gardens plc is currently one of the country’s largest plant and garden retailers, with a market
share of approximately 12%. The vertical merger will result in one company owning a chain of
garden centres as well as growing the plants which are sold in these retail outlets.

Beautiful Buds plc currently has 124 employees. Its Managing Director is looking to make the
business more efficient and is planning to change its organisational structure by removing two
layers of management (see below). This change is planned before the proposed merger. The
Managing Director believes that the tasks carried out by Middle Managers and Team Leaders can
be effectively completed by employees either below or above them in the structure. The estimated
redundancy costs due to the restructuring are £200000.

Directors (3)

Senioly Managers (9)

/—\ Direéc}.s\(?)}
Middie Managers (12) ‘ H

Team Leaders (20) ﬁenior Managers (3)\

/ \
/ Supervisors (30) \ / Supervisors (40) \
/ Operatives (50) \ / Operatives (50) \

Beautiful Buds plc’s planned organisational structure change

Job role Average salary
Directors £110000
Senior Managers £80000

Middle Managers £50000

Team Leaders £35000
Supervisors £30000
Operatives £22000

Beautiful Buds plc’s current salary structure
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(a) Analyse two benefits for Beautiful Buds plc of growing externally.

B it T e e e et e e e et et e ntn—n e e e et e e aane s

This question was testing candidate understanding of the benefits of external growth. Responses were
often inaccurate or, at best, too vague. Many candidates jumped straight to ‘more profit’ with no clear
link to external growth, such answers could not be rewarded.

Examiners were looking for some explicit understanding of external growth which, following a chain or
logical reason culminated with the benefit this brings to Beautiful Buds. For example, ‘Merging (1 mark)
with Green Gardens gives Beautiful Buds increased brand awareness in the gardening sector (1 mark),
increasing its sales revenue (1 mark).

published by Hodder Education is a good starting point for this topic area.
The chapter entitled “Business growth” explains the meaning of external
growth (and the different types) in a way which candidates can understand.
In addition, the chapter contains practical activities for candidates to
undertake to reinforce their learning and practice questions to showcase
their understanding.

@ OCR support | The textbook “Business — OCR GCSE (9-1)” which is endorsed by OCR and

Question 18 (b)

(b) Identify one way that Beautiful Buds plc could have grown organically.

Candidates needed to demonstrate their knowledge of organic growth within the scope of the given
scenario. Some candidates confused organic growth with external growth and gave answers such as
‘merge with a garden centre’ or ‘takeover a garden tools producer’ such answers are wrong and could
not be given. The best answers related to ‘growing a wider variety of plants’, ‘selling the plants online’
and ‘gaining new customers through promotions such as 2-for-1 on house plants’.
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Question 18 (c) (i) and (ii)

(c) (i) Analyse the impact on two stakeholder groups of the proposed vertical merger between
Beautiful Buds plc and Green Gardens plc.

(i) Recommend which stakeholder group will be most affected by the vertical merger
between Beautiful Buds plc and Green Gardens plc. Give reasons for your answer.

Questions 18ci and cii comprise one question, scaffolded for accessibility. The question is testing
candidates’ understanding of the effects of business decisions on stakeholders. This question was not
generally well answered. In addition, this question had the greatest number of blank responses of any
question on the paper. These two factors combined may indicate a lack of coverage of this topic.

Few candidates scored more than 3 marks on Question 18ci. A typical response correctly named two
stakeholder groups, managed to analyse the impact of the merger on one of these and made no attempt
at applying the answer specifically to the scenario.
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To improve the marks gained on Question 18ci, candidates need to make sure they work through a
chain of argument to reach an impact on each specific stakeholder group. Many, having identified the
stakeholder group, for example ‘customers’, then went on to discuss the impacts on the business rather
than the impacts on their identified stakeholder. This is the one question on the paper (see comments in
the series overview) where the analysis is to be stakeholder-facing, rather than business-facing. The
wording of the question makes this clear ‘Analyse the impact on two stakeholder groups of ..." In
addition, for full marks, application to the scenario is required. The application would vary significantly
depending on which stakeholder group is under discussion: If employees are chosen then references to
needing to find another job at a neighbouring garden centre could be used; if customers are chosen then
references to the range of plants available or the price of cut flowers could be used; if shareholders are
chosen then references to the 12% market share could be used in the argument, etc.

Question 18cii required candidates to select which stakeholder group would be most impacted by the
proposed merger. There was no right or wrong answer here, all candidates were required to do for the
first of the 3 available marks was to choose a stakeholder group (the group did not necessarily even
have to have been considered in the Question 18ci, it could have been a further stakeholder group).
Almost all candidates who answered this question clearly identified their selection and, thus, gained at
least one mark. Of the very few candidates that scored zero on this question, the reason was invariably
one of ‘sitting on the fence’ i.e. arguing that both stakeholder groups would be affected but in different
ways, while this may be true it did not answer the question set and could not be rewarded.

The other 2 marks available for Question 18cii were given for the quality of the candidate’s justification of
their selection. A good justification was given one extra mark for being valid but appropriate to most
businesses, e.g. ‘Employees will be the most affected (1 mark) because they will lose their job and not
be able to feed their families (+1 mark)’. A strong justification was given 2 extra marks for being valid
and contextual, e.g. ‘Shareholders will be most affected (1 mark) access to 12% of the retail market
should lead to a significant increase in their dividends (+2 marks)’.

the specification. These can be accessed using the following link:
https://www.ocr.org.uk/qualifications/gcse-business-j204-from-
2017/delivery-quide/

The resource ‘Business activity’, ‘Stakeholders in business’, ‘The effect of
business activities on stakeholders’ may be particularly useful in supporting
either the initial delivery of this topic area.

@ OCR support | OCR has produced several delivery guides to support centres delivering



https://www.ocr.org.uk/qualifications/gcse-business-j204-from-2017/delivery-guide/
https://www.ocr.org.uk/qualifications/gcse-business-j204-from-2017/delivery-guide/
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Question 18 (d)*

(d)* Discuss, with reference to the data in Text 3, whether Beautiful Buds plc should go ahead
with the plan to change its organisational structure.

This is the highest tariff question on the paper. The question was well answered by the majority
candidates across all ability ranges.

The 9 marks were allocated as follows: 1 mark for knowledge, 1 mark for understanding, 2 marks for
numerical application, 2 marks for analysis and 3 marks for evaluation. Each assessment skill was
marked independently, therefore no one skill is a pre-requisite of another. Further details of this mark
breakdown can be found on the marking grid for this question in the published mark scheme.

For the knowledge mark, examiners were looking for evidence of the accurate use of business
terminology relating to organisational structure. Terminology such as ‘chain of command’, ‘span of
control’, ‘delegation’, ‘subordinates’, ‘tall’, ‘flat’, ‘delayering’, etc. were all equally awardable.
Approximately half of candidates used specific organisational structure terminology in their answer and,
thus, were rewarded with the mark. It was noticeable that of those that did not achieve this mark, a
significant proportion of them appeared to be high ability candidates.

For the understanding mark, examiners were looking for one or more benefits or drawbacks of a tall/ flat
organisational structure or of delayering. The vast majority of candidates achieved this mark.

For the application marks, examiners were looking for the use of the numerical data given in the text (as
indicated in the question by the phrase ‘with reference to the data in Text 3’). A mark was given (to a
maximum of 2) each time a candidate made use of the numerical data in a calculation. Some
calculations were relatively straightforward, e.g. number of workers pre- and post-change, others were
more complex, e.g. costs pre- and post-change. All were awardable.

Common examples of numerical application evidenced in candidate responses were:

e Calculations relating to the size of the e Calculations relating to changes in costs:
workforce: o £600,000 of salaries of middle managers
o 32 of current staff would be lost would be saved per year
o 10 additional supervisors would be needed o £700,000 of salaries from team leaders
o total size of workforce before the change would be saved per year
124 o £1.3m combined saving on middle
o total size of workforce after the change 102 managers and team leaders per year
o the overall size of the workforce would be o The additional supervisors would cost
reduced by 22 £300,000 per year

Net saving in future years £1m

Net saving in first year £0.8m (£1m -
£0.2m redundancy cost)
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For the analysis marks, examiners were looking for a logical chain of reasoning which culminated in the
impact of this change in organisational structure on Beautiful Buds. Examiners saw lots of reasoning
that linked to impacts on sales revenue, profit and reputation; less so (but equally valid) impacts on cash
flow, productivity and quality. It should be noted that impacts on employees or customers could not be
rewarded as analysis unless the impact on the business was also made clear. As an example, a
response that said ‘employees may disagree with the changes and may lose job satisfaction’ could not
be given as analysis because the impact on the business is not clearly stated. On the other hand, a
response such as ‘employees may be worried about the proposed changes, causing levels of
productivity to fall’ would be given since the impact on the business is clearly stated.

For the evaluation marks, examiners were looking for a clear decision coupled with justification of this
decision. There was no right or wrong answer here, all candidates were required to do for the first of the
3 available marks was to make clear their decision as to whether Beautiful Buds should or should not go
ahead with the plan to change its organisational structure. Aimost all candidates clearly indicated their
decision and, thus, gained at least one mark for evaluation. Of the very few candidates that scored zero
for evaluation, the reason was invariably one of ‘sitting on the fence’ i.e. giving reasons for and against
the change but never stating an actual decision, such responses could not be rewarded with evaluation
marks.

The other 2 marks available for evaluation were given for the quality of the candidate’s justification of
their decision. A good justification was given one extra mark for being valid but appropriate to most
businesses, e.g. ‘Beautiful Buds should go ahead with the change (1 mark) because its labour costs will
be significantly reduced (+1 mark)’. A strong justification was given 2 extra marks for being valid and
contextual, e.g. ‘Beautiful Buds should not go ahead with this change (1 mark) because a reduction of 22
workers may mean that the business cannot cope with the workload and plants might die, reducing sales
revenue (+2 marks)'.

Please see the following exemplars for further clarification.
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Exemplar 5
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This exemplar shows the final paragraph of a candidate’s response. The candidate clearly understands
that there are pros and cons to changing the organisational structure (and these were given as
understanding and analysis earlier in their response). This conclusion, however, does not make a clear
decision either way — should Beautiful Buds go ahead with the change or should it not? For this reason,
the response was given zero marks for evaluation.

Exemplar 6

e T CONCLAS A T CAOAE A
........ 0O AR Em,ﬂm Sl 0.0
A e Slaaaga. fo.8. r@m&Wal an,\,cm
....... BOCCASE . NE A, S O aaelied ol Qs
............ o b AR LAARLGY 00D, R (Q;.s )ﬂ«ﬁ,\j
- J»;Lg QW LromstuAl. . aaoh. Lo AAnHORA0RA. .
........... AADA el iR, . Has. . bladaas sl LAOTIA L ASE.
....... haasﬂ‘sk;m&crwwﬁjmbmm
LCoase. . Drokits. fo fa L. e

The conclusion to this candidate’s response clearly shows that they have decided that Beautiful Buds
should not go ahead with the change in organisational structure (and would be given one evaluation
mark at this point). Their decision is supported with a justification about a shorter chain of command
leading to lower motivation levels and lower profit. The argument was accepted, but because the
response would be relevant to any business, i.e. it is generic it was deemed to be ‘good’ rather than
‘strong’. This response was given 2 of the available 3 marks for evaluation.
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Exemplar 7
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This exemplar is just what the examiner is looking for. The conclusion to this candidate’s response
clearly shows that they have decided that Beautiful Buds should go ahead with the change in
organisational structure (and would be given one evaluation mark at this point). Their justification relates
to savings in labour cost and is supported with a contextual reference to the £1 million saved. Despite
being concise, the decision is clear and the justification contextual. This response was given the full 3
marks for evaluation.

be accessed using the following link:
https:/lwww.ocr.org.uk/qualifications/gcse-business-j204-from-
2017/delivery-quide/ . The resource ‘People’, ‘Organisational structures
and different ways of working’, ‘Terminology of organisation charts’ and
‘Structuring an organisation’ may both be particularly useful in supporting
either the initial delivery of this topic area, or its subsequent revision towards
the end of the course.

@ OCR support | OCR delivery guides which support centres delivering the specification can
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Supporting you

For further details of this qualification please visit the subject webpage.

Review of results

If any of your students’ results are not as expected, you may wish to consider one of our review of results
services. For full information about the options available visit the OCR website. If university places are
at stake you may wish to consider priority service 2 reviews of marking which have an earlier deadline to
ensure your reviews are processed in time for university applications.

Review students' exam performance with our free online results analysis tool. Available for GCSE, A Level
and Cambridge Nationals.

It allows you to:

« review and run analysis reports on exam performance

« analyse results at question and/or topic level*

« compare your centre with OCR national averages

. identify trends across the centre

« facilitate effective planning and delivery of courses

« identify areas of the curriculum where students excel or struggle

+ help pinpoint strengths and weaknesses of students and teaching departments.

*To find out which reports are available for a specific subject, please visit ocr.org.uk/administration/
support-and-tools/active-results/

Find out more at ocr.org.uk/activeresults

Training

Attend one of our popular CPD courses to hear exam feedback directly from a senior assessor or drop in
to an online Q&A session.

Please find details for all our courses on the relevant subject page on our website.

www.ocr.org.uk
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OCR Resources: the small print

OCR'’s resources are provided to support the delivery of OCR
qualifications, but in no way constitute an endorsed teaching
method that is required by OCR. Whilst every effort is made

to ensure the accuracy of the content, OCR cannot be held
responsible for any errors or omissions within these resources.
We update our resources on a regular basis, so please check the
OCR website to ensure you have the most up to date version.

This resource may be freely copied and distributed, as long as
the OCR logo and this small print remain intact and OCR is
acknowledged as the originator of this work.

Our documents are updated over time. Whilst every effort is made
to check all documents, there may be contradictions between
published support and the specification, therefore please use the
information on the latest specification at all times. Where changes
are made to specifications these will be indicated within the
document, there will be a new version number indicated, and a
summary of the changes. If you do notice a discrepancy between
the specification and a resource please contact us at:
resources.feedback@ocr.org.uk.

Whether you already offer OCR quialifications, are new to OCR, or
are considering switching from your current provider/awarding
organisation, you can request more information by completing the
Expression of Interest form which can be found here:
www.ocrorg.uk/expression-of-interest

Please get in touch if you want to discuss the accessibility of
resources we offer to support delivery of our qualifications:
resources.feedback@ocr.org.uk

Looking for a resource?

There is now a quick and easy search tool to help find free resources
for your qualification:

www.ocr.org.uk/i-want-to/find-resources/

www.ocr.org.uk

OCR Customer Support Centre

General qualifications

Telephone 01223 553998

Facsimile 01223 552627

Email general.qualifications@ocr.org.uk

OCR is part of Cambridge Assessment, a department of the University of
Cambridge. For staff training purposes and as part of our quality assurance
programme your call may be recorded or monitored.

© OCR 2019 Oxford Cambridge and RSA Examinations is a Company
Limited by Guarantee. Registered in England. Registered office The
Triangle Building, Shaftesbury Road, Cambridge, CB2 8EA. Registered
company number 3484466. OCR is an exempt charity.


mailto:general.qualifications%40ocr.org.uk?subject=
mailto:resources.feedback%40ocr.org.uk?subject=
http://www.ocr.org.uk/expression-of-interest
mailto:resources.feedback%40ocr.org.uk?subject=
http://www.ocr.org.uk/i-want-to/find-resources/

	Examiners’ report template
	Exemplar 1

	Contents
	Introduction
	Paper 1 series overview
	Section A overview
	Question 2
	Question 11

	Section B overview
	Question 16 (a)
	Question 16 (b)
	Exemplar 1
	Exemplar 2

	Question 16 (c)
	Question 16 (d)
	Question 16 (e)
	Exemplar 3
	Exemplar 4

	Question 16 (f) (i), (ii) and (iii)
	Question 17 (a)
	Question 17 (b)
	Question 17 (c) (i) and (ii)
	Question 17 (d)
	Question 17 (e) (i), (ii) and (iii)
	Question 17 (f)
	Question 18 (a)
	Question 18 (b)
	Question 18 (c) (i) and (ii)
	Question 18 (d)*
	Exemplar 5
	Exemplar 6
	Exemplar 7




<<

  /ASCII85EncodePages false

  /AllowTransparency false

  /AutoPositionEPSFiles true

  /AutoRotatePages /All

  /Binding /Left

  /CalGrayProfile (Dot Gain 20%)

  /CalRGBProfile (sRGB IEC61966-2.1)

  /CalCMYKProfile (U.S. Web Coated \050SWOP\051 v2)

  /sRGBProfile (sRGB IEC61966-2.1)

  /CannotEmbedFontPolicy /Warning

  /CompatibilityLevel 1.6

  /CompressObjects /Tags

  /CompressPages true

  /ConvertImagesToIndexed true

  /PassThroughJPEGImages true

  /CreateJobTicket false

  /DefaultRenderingIntent /Default

  /DetectBlends true

  /DetectCurves 0.0000

  /ColorConversionStrategy /LeaveColorUnchanged

  /DoThumbnails false

  /EmbedAllFonts true

  /EmbedOpenType false

  /ParseICCProfilesInComments true

  /EmbedJobOptions true

  /DSCReportingLevel 0

  /EmitDSCWarnings false

  /EndPage -1

  /ImageMemory 1048576

  /LockDistillerParams false

  /MaxSubsetPct 100

  /Optimize true

  /OPM 1

  /ParseDSCComments true

  /ParseDSCCommentsForDocInfo true

  /PreserveCopyPage true

  /PreserveDICMYKValues true

  /PreserveEPSInfo true

  /PreserveFlatness false

  /PreserveHalftoneInfo false

  /PreserveOPIComments false

  /PreserveOverprintSettings true

  /StartPage 1

  /SubsetFonts true

  /TransferFunctionInfo /Apply

  /UCRandBGInfo /Preserve

  /UsePrologue false

  /ColorSettingsFile ()

  /AlwaysEmbed [ true

  ]

  /NeverEmbed [ true

  ]

  /AntiAliasColorImages false

  /CropColorImages false

  /ColorImageMinResolution 300

  /ColorImageMinResolutionPolicy /OK

  /DownsampleColorImages true

  /ColorImageDownsampleType /Bicubic

  /ColorImageResolution 200

  /ColorImageDepth -1

  /ColorImageMinDownsampleDepth 1

  /ColorImageDownsampleThreshold 1.50000

  /EncodeColorImages true

  /ColorImageFilter /DCTEncode

  /AutoFilterColorImages true

  /ColorImageAutoFilterStrategy /JPEG

  /ColorACSImageDict <<

    /QFactor 0.15

    /HSamples [1 1 1 1] /VSamples [1 1 1 1]

  >>

  /ColorImageDict <<

    /QFactor 0.15

    /HSamples [1 1 1 1] /VSamples [1 1 1 1]

  >>

  /JPEG2000ColorACSImageDict <<

    /TileWidth 256

    /TileHeight 256

    /Quality 30

  >>

  /JPEG2000ColorImageDict <<

    /TileWidth 256

    /TileHeight 256

    /Quality 30

  >>

  /AntiAliasGrayImages false

  /CropGrayImages false

  /GrayImageMinResolution 300

  /GrayImageMinResolutionPolicy /OK

  /DownsampleGrayImages true

  /GrayImageDownsampleType /Bicubic

  /GrayImageResolution 200

  /GrayImageDepth -1

  /GrayImageMinDownsampleDepth 2

  /GrayImageDownsampleThreshold 1.50000

  /EncodeGrayImages true

  /GrayImageFilter /DCTEncode

  /AutoFilterGrayImages true

  /GrayImageAutoFilterStrategy /JPEG

  /GrayACSImageDict <<

    /QFactor 0.40

    /HSamples [1 1 1 1] /VSamples [1 1 1 1]

  >>

  /GrayImageDict <<

    /QFactor 0.15

    /HSamples [1 1 1 1] /VSamples [1 1 1 1]

  >>

  /JPEG2000GrayACSImageDict <<

    /TileWidth 256

    /TileHeight 256

    /Quality 30

  >>

  /JPEG2000GrayImageDict <<

    /TileWidth 256

    /TileHeight 256

    /Quality 30

  >>

  /AntiAliasMonoImages false

  /CropMonoImages false

  /MonoImageMinResolution 1200

  /MonoImageMinResolutionPolicy /OK

  /DownsampleMonoImages true

  /MonoImageDownsampleType /Bicubic

  /MonoImageResolution 600

  /MonoImageDepth -1

  /MonoImageDownsampleThreshold 1.50000

  /EncodeMonoImages true

  /MonoImageFilter /CCITTFaxEncode

  /MonoImageDict <<

    /K -1

  >>

  /AllowPSXObjects false

  /CheckCompliance [

    /None

  ]

  /PDFX1aCheck false

  /PDFX3Check false

  /PDFXCompliantPDFOnly false

  /PDFXNoTrimBoxError true

  /PDFXTrimBoxToMediaBoxOffset [

    0.00000

    0.00000

    0.00000

    0.00000

  ]

  /PDFXSetBleedBoxToMediaBox true

  /PDFXBleedBoxToTrimBoxOffset [

    0.00000

    0.00000

    0.00000

    0.00000

  ]

  /PDFXOutputIntentProfile ()

  /PDFXOutputConditionIdentifier ()

  /PDFXOutputCondition ()

  /PDFXRegistryName ()

  /PDFXTrapped /False



  /CreateJDFFile false

  /Description <<

    /ENU ([Based on '[High Quality Print]'] Use these settings to create Adobe PDF documents for quality printing on desktop printers and proofers.  Created PDF documents can be opened with Acrobat and Adobe Reader 5.0 and later.)

  >>

  /Namespace [

    (Adobe)

    (Common)

    (1.0)

  ]

  /OtherNamespaces [

    <<

      /AsReaderSpreads false

      /CropImagesToFrames true

      /ErrorControl /WarnAndContinue

      /FlattenerIgnoreSpreadOverrides false

      /IncludeGuidesGrids false

      /IncludeNonPrinting false

      /IncludeSlug false

      /Namespace [

        (Adobe)

        (InDesign)

        (4.0)

      ]

      /OmitPlacedBitmaps false

      /OmitPlacedEPS false

      /OmitPlacedPDF false

      /SimulateOverprint /Legacy

    >>

    <<

      /AddBleedMarks false

      /AddColorBars false

      /AddCropMarks false

      /AddPageInfo false

      /AddRegMarks false

      /BleedOffset [

        0

        0

        0

        0

      ]

      /ConvertColors /NoConversion

      /DestinationProfileName ()

      /DestinationProfileSelector /NA

      /Downsample16BitImages true

      /FlattenerPreset <<

        /PresetSelector /MediumResolution

      >>

      /FormElements false

      /GenerateStructure true

      /IncludeBookmarks false

      /IncludeHyperlinks false

      /IncludeInteractive false

      /IncludeLayers false

      /IncludeProfiles true

      /MarksOffset 6

      /MarksWeight 0.250000

      /MultimediaHandling /UseObjectSettings

      /Namespace [

        (Adobe)

        (CreativeSuite)

        (2.0)

      ]

      /PDFXOutputIntentProfileSelector /NA

      /PageMarksFile /RomanDefault

      /PreserveEditing true

      /UntaggedCMYKHandling /LeaveUntagged

      /UntaggedRGBHandling /LeaveUntagged

      /UseDocumentBleed false

    >>

    <<

      /AllowImageBreaks true

      /AllowTableBreaks true

      /ExpandPage false

      /HonorBaseURL true

      /HonorRolloverEffect false

      /IgnoreHTMLPageBreaks false

      /IncludeHeaderFooter false

      /MarginOffset [

        0

        0

        0

        0

      ]

      /MetadataAuthor ()

      /MetadataKeywords ()

      /MetadataSubject ()

      /MetadataTitle ()

      /MetricPageSize [

        0

        0

      ]

      /MetricUnit /inch

      /MobileCompatible 0

      /Namespace [

        (Adobe)

        (GoLive)

        (8.0)

      ]

      /OpenZoomToHTMLFontSize false

      /PageOrientation /Portrait

      /RemoveBackground false

      /ShrinkContent true

      /TreatColorsAs /MainMonitorColors

      /UseEmbeddedProfiles false

      /UseHTMLTitleAsMetadata true

    >>

  ]

>> setdistillerparams

<<

  /HWResolution [2400 2400]

  /PageSize [612.000 792.000]

>> setpagedevice



